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INTERNATIONAL AND AREA STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The realist conception of power and its relation to security are located in
the idea of international anarchy.

Reason (R) : International anarchy means a fundamental contrast between a settled and
peaceful internal order and a violent and dangerous international order.

Codes :

(1) (A) is correct, but (R) is not correct.

(2) (A) is not correct, but (R) is correct.

(3) Both (A) and (R) are not correct.

(4) Both (A) and (R) are correct, and (R) supports (A).

2. What amongst the following is the main thrust of neo-liberalism ?

(1) Placing market efficiencies as foundation for political freedom and to argue for a
limited role for the state.

(2) Commitment to an autonomous attitude to state, society and individual.
(3)  According priority to the will of the majority.
(4) Extending power of a state beyond its borders.

3.  Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : In the world system approach economic power is closely linked with
political and strategic powers.

Reason (R) : States which remain outside the orbit of the world economy find that they
are unable to do so being dependent upon it for trade, investment, technical
assistance and aid.

Codes :

(1) Both (A) and (R) are correct, but (R) is not the explanation of (A).
(2) Both (A) and (R) are correct.

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

4. Who among the following has described the worldwide triumph of liberal democracy as
the “End of history” ?

(1)  Samir Amin (2) David Held
(3) Francis Fukuyama (4) Samuel Huntington
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5. Identify the correct code for Assertion (A) and Reason (R) as given below :
Assertion (A) : Both the cold war and the age of empire are over, although across the
globe their legacies, good or bad, seen or unseen, persist.
Reason (R) : However, during the later half of the cold war years of bipolarisation,
nuclear weapons and other weapons of mass destruction acted as the currency of
power.

Code :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3) (A) is correct, but (R) is not correct.
(4) (A) is not correct, but (R) is correct.

6.  Which one of the following is not a tangible element of national power ?
(1) National will (2)  Critical mass
(3) Military capability (4) Economic capability

7.  Match the following given in List-I (Authors) with List-II (Conceptualisations) by using
the correct code given below :

List - 1 List — 11
(Authors) (Conceptualisations)
(a) Ken Booth (1)  Security itself is a relative freedom from war.

(b) Arnold Wolfers (1) Emancipation is the freeing of people from the physical
and human constraints.

(c) Ian Bellamy (ii1))  Security, in any objective sense, measures the absence of
threats to acquired values.

(d) Walter Lippman  (iv) A nation is secure to the extent when it is not in danger of
having to sacrifice core values if it wishes to avoid war.

Codes :

@ ® @© @
(H Gv)y @ () (1)
(2 >y @) @ (>0Qv)
(3 ) @@ G (@)
4 O (@av) (@) (1)

8.  Which one of the following is not intertwined with the acceptance of common security ?
(1) Efforts to reduce the risk of war.
(2) Efforts to limit armaments.
(3) Move towards disarmament, implying cooperation to resolve conflicts.
(4) Assertion of ideological and political positions.
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9. Who among the following stressed that “globalisation has facilitated the movement of
dirty money, as well as the transportation of drugs, counterfeit goods, arms, illegal aliens
and nuclear materials” ?

(1) R. Godsman and P. Williams (2) Colin S. Gray
(3) E. Graham and P. Krugman (4) LL. Griffith

10. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : A cardinal principle of US policy since the collapse of the Soviet Union
has been to foster the independence of the newly independent states established on
former Soviet territory.

Reason (R) : To meet this objectives, the US has championed the eastward expansion of
NATO and encouraged the Central Asian and Caucasus Republics to develop
alternate economic and energy corridors.

Codes :

(I) Both (A) and (R) are incorrect.
(2) (A) is correct, but (R) is incorrect.
(3) Both (A) and (R) are correct.

(4) (A) is incorrect, and (R) is correct.

11. Who among the following strategic thinkers opined that “To have command of the air
means to be in a position to prevent the enemy from flying, while retaining the ability to
fly oneself” ?

(1) W. Mitchell (2) Alexander de Seversky
(3) G. Douhet (4) A.T. Mahan

12. Who among the following opined that the world politics can be compared as a multi-
layered power cake ?

(1) J.Nye (2) John Baylis
(3) H.J. Morgenthau (4) H. Kissinger

13. Negation of shooting war during the period of Bipolarisation was defined as which one of
the following ?

(1) Limited War (2)  Surrogate War
(3) Proxy War (4) Cold War

14. Who among the following opined that “Climate change would be a bigger threat to
mankind than international terrorism” ?

(1) Herbert York (2) Karl Sagan
(3) David King (4)  Suresh Pachauri
Paper-11 6 J-90-16
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15. The idea of the existence since antiquity of a diverse array of claims about the natural
environment as a cause of political, economic and social outcomes was primarily
advanced by which one of the following theories :

(1)  Geopolitical theory (2) Naturalist theory
(3) Sociological theory (4) Economic theory

16. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : The Gujral doctrine advocates non-reciprocity when dealing with smaller
South Asian States.

Reason (R) : The Gujral doctrine does not apply to Pakistan.
Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.

(3) (A) is correct, but (R) is not correct.

(4) (A) is not correct, but (R) is correct.

17. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Globalization increases the challenges faced by all actors in the global
economy.

Reason (R) : Resultantly, strong states try to manage financial crises, while weak states
try to survive increasingly precarious economic conditions.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3) (A) is not correct, but (R) is correct.
(4) (A) is correct, but (R) is not correct.

18. Which country did not impose trade sanctions on Russia for its engagement in the
Crimean crisis ?

(1) Canada (2) Australia
3) UuS (4) China

19. Inrecent times, wars have been privatised. Private military companies or corporate armies
are providing services normally carried out by national military forces. What are the
implications of this trend for states. Choose the right answer from the following :

(1) It undermines the states legitimate monopoly over the means of violence.
(2) It allows states to fight wars more efficiently.

(3) States can pass off their wasteful expenditure to the market.

(4) States are not interested in fighting wars anymore.
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20. Match the following Nuclear Weapons Free Zone treaties as given in List-I with their
zones in List-1I by using the code mentioned below :
List -1 List — II
(NWFZ treaties) (Zones)
(a) Treaty of Tlatolelco (i)  South Pacific
(b) Treaty of Pelindaba (i) Antarctica
(c) Treaty of Rarotonga (iii)) Latin America
(d) Antarctic Treaty (iv) Africa
Codes :
@ (b (© (@
(H G Gv) @O G)
2 ® @G @) @Gv)
(3) ) (@) @Gv) @
@4 Gv) @) @G (i)

21. Match the following theories given in List — I with their proponents in List — II, by using
the codes given below :

List -1 List - II
(Theories) (Proponents)
(a) Nuclear Winter (1)  B.H. Liddell Hart

(b)  Strategic Paralysis (i1) J.F. Dallas
(c) Massive Retaliation  (iii) J.F.C. Fuller
(d) Indirect Approach (iv) TTAPS group
Codes :

@ () () ()
(L ® @G @G (@Gv)
(2) Gv) (i) @) @
3 G (@ ai) (@Gv)
4 (@) @Gv) @H (D)

22. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Terrorism has both internal as well as external dimensions. In its external
dimension, international terrorism has the potential of impinging upon friendly
relations among states. In its internal dimension, terrorism creates chaos and
instability.

Reason (R) : Therefore, the issue of terrorism must assume centrestage for international
cooperation to combat terrorism.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are incorrect.

(3) (A) is not correct, but (R) is correct.

(4) (A) is correct, but (R) is not correct.
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23. ‘Necklace of Diamonds’ strategy belongs to which one of the following :
(1) India (2) China
(3) France (4) Vietnam

24. Which statement among the following is not an objective of India’s foreign policy ?
(1) The preservation of India’s territorial integrity and independence of foreign policy.
(2) Promoting international peace and security.
(3) Promoting democracy all across the world.
(4) Economic development of India.

25. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : India has been accused of being a big brother by its South Asian
neighbours. There has also been a lot of ups and downs in India’s relationship with
most of its neighbours.

Reason (R) : India’s South Asian neighbours have been suspicious about India’s foreign
policy objectives since the 1970s, due to the aggressive interventions of Prime
Minister Indira Gandhi who was instrumental in the secession of East Pakistan in
1971, authorised nuclear tests in 1974, annexed Sikkim in 1975 and also was
accused of supporting Tamil militants in Sri Lanka in the 1980s.

Codes :

(1) Both (A) and (R) are not correct.

(2) (A) is correct, but (R) is not correct.

(3) (A) is not correct, but (R) is correct.

(4) Both (A) and (R) are correct.

26. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : India’s Look East Policy was launched in 1992 just after the end of the
Cold War following the dissolution of the Soviet Union. It was given a thrust by
India becoming an important dialogue partner with ASEAN in 1992, a summit level
partner of ASEAN in 2002, a member of the East Asia Summits since 2005 and its
involvement in regional initiatives like BIMSTEC and the Ganga-Mekong
Cooperation.

Reason (R) : During Cold War years India’s relations with South East Asian counties was
not very strong. But under the ‘Look East Policy’, India placed special emphasis on
the economic development of the backward north-eastern region of India taking
advantage of the huge market of ASEAN countries.

Codes :

(1) (A) is correct, but (R) is not correct.

(2) (A) is not correct, but (R) is correct.

(3) Both (A) and (R) are correct.

(4) Both (A) and (R) are not correct.
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23. BRI HER (e 3h SEHSH) Tas (=rarad § 9 e detad € 2
(1) 9Rd ) ==
3) w4 (4) foud=

24, TTAfAREd § | DI T H 9RA ®i o-er ifd & 78T T2l 8 2
(1) 9Rd ! T SRS I S TG qan foger A =l e |
(2) ITRIEA T ST Y& Bl Fgrall ST |
(3) I 3T ° AR T e 3T |
(4) YRT T 3 o |

25, TfeRad e (A) 3R d% (R) & el P Bl Tea DTy :

AUHST (A) : TSI ST TRTEE 20 FRT URA U S WIS Y SRIMRY I STRIT oFEr STt
W E | YRA & 3ueha? TSI 220 o 9 Gael | 9T Sar-=gre 9 @I e |

% (R) : YR % TSIE! STRI0T TR 297 1970 % 531 U &1 HRArg forw Hifa % e %
AR T YRS @ &, TSTehT ShIRoT U w3l SIS T} T SAShiAe e%delT @l ¢, e waret
¥ 1971 H YA ORI G2k <97 1 T, I8H 1974 AR URISI0T 1 WMiesha fohar o,
1975 5 9Ra § fafeerd 1 oo gam o1 3R 1980 % 397 | WRd §RT drdel SUuri i
HAIT T & Y o M T Y |

kT

(1) (A) 3R (R) T T&l T & |
(2) (A)WE, WR) TR |
3) (A) W FIE, WR) TE |
(4) (A)TI (R) AT WEIE |

26. fAfafEd ST (A) 3R T (R) % T8l F Fl TedH HINT
ANTHAT (A) : I g B GEING AR Gifoad @ & foEeT & 3 9% 9Rd 4 TqH T2
Tt (qd o I o T Gy T T TR A | 1992 H 9YRA §RT STEIH o qref
T FEw@qUl WIERR a9+, 2002 H 38 §RT R FHe TRIF 06 9RRR a9+, 2005 8
TS TRTET e T 1 U 988 9 31T SR (BIMSTEC) e TM-HehiT T&anT
S} TEel H AR ¥ T S5 Wierdr” W 9ot A |
& (R) : 30 F5 o A % AR TRA & SHI0T g6l TRTATE <30 o |1 Hefad Gae Faf & |
TR, T S8 Uil o FRT ARA SMGAH I % [a9Tel IR 61 @ 38 & fofw 31o+
TSy ST & ot 37 e T ey o7 ST w & |

kT
(1) (A) WIE, |WR) W TEIE
(2) (AT TE RR) T
(3) (A) X (R) I TEIE |
(4)  (A) 3 (R) IH W& T&T & |
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27. Arrange the following Indian Naval operations in the ascending chronological order by
using the code given below :

(1)  Operation Trident (i)  Operation Sukoon

(ii1)) Operation Rainbow (iv) Operation Restore Hope
Code :

(L @, (), (i), (iv) (2) (), (i), (iv), (D)

(3) (i), (1), (i), (iv) @4 (D, (v), (iid), (i1)

28. Match List — I of the dates of the BRICS Summits with List — II in the venues they were
held by using the codes given below :

List -1 List - II
(a) 16 June 2009 (1) Fortazela
(b) 14 April 2011 (i1) Yekaterinaburg
(c) 14-16July 2014 (ii1) Sanya
(d) 8-9July 2015 (iv) Ufa

Codes :

@ ® @© @
() Gv) @G @G @
2 ® av) (@) (1)
3 @y @ @ (@Gv)
4 O @Gy (@G (@)

29. Which one of the following of the UN Charter deals with the ‘Pacific Settlement of
Disputes’ ?
(1) Article 1 (2) (2) Article 2 (7)
(3) Chapter VII (4) Chapter VI

30. The Intergovernmental Negotiations on UN Security Council Reforms was recently
chaired by one of the Permanent Representative of which country ?
(1) Japan (2) Pakistan
(3) Afghanistan (4) Singapore

31. Arrange the following UN peace keeping operations in the ascending chronological order,
by using the code given below :
(1) UN emergency Force Deployment during the Suez crisis.
(1) UNFIL deployment in Lebanon.
(i11)) UNDOF in Golan Heights.
(iv) UN Peace-keepers in Cyprus.

Codes :
(H (@), (), (i), (iv) (2) (i), (iib), (iv), (1)
(3) (i), (iv), (1), (i1) 4) (@), (1), (i), (i1)
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27. ™ U T P B VAN BRI §U GG IRAF A S (FledT Hael SIE) S

3T RIET HIcThH H A shitsTy
(i) SAOEHE RS (i) ST gFA
(iii) AT Far (iv) AR IR 8
E T
(1) (), (i), (iii), (iv) (2)  (ib), (iii), (iv), (i)
(3)  (iii), (@), (ii), (iv) @) (), (iv), (iii), (ii)
28. ™ ST T e o1 AT A B R — [ i Torer TYER Weer st ARial s gEl — I % 3 el
% T GAfeAd BT, ST o 2T=ifstd fohe 7T o
T -1 e - 11
(a) 16 S, 2009 () RS

(b) 14 3T, 2011 (i) FHRATERT
(c) 14-16 SIS, 2014 (i) @m=aT

(d) 8-9 STeTTE, 2015 (iv) W

T

(=N

(@ (b () (@
() @Gv) i) G @
2 @© Gav) (a1 (1)
3 ) @) @H Gv)
@ @ @@ 3G @Gv)

29, T UL TR H (EATARGT T T B AT 9T WRIA-[Fas FuerT & Fetad & 2
(1) F=T-1(2) (2) FDT-2(7)

(3) &&m™ - VIl (4) &I - VI

30. T T RTINS § GUR & aR H SR-GhRI araret ot g 391 & wmlt ufaHry 3
T UECT T Wl & ?
(1) S (2) diRE
(3) ST (4) TR

31. = U MU 2 A YA R gU G 9 T VN SO ST i 3Ah STRIET
FHTThA | AT FHiT :
(i) ST ohe o IR TIHT T AT FAT Y ATt
(i) A ¥ JTA.0F, 3TE.TA, I el
(iii) e UeIrEat § .U S 3.0,
(iv) TTEU" | G T 90 T
- T

(1 (@, (), (i), (iv) (2) (@), (i), (iv), (1)
(3) (i), (iv), (1), (i) @ @), (1), (i), (i1)
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32. Arrange the following events in chronologically ascending order where United Nations
intervention was necessary, and use the code given below :

(1)  War in Bosnia (i) Six Day War
(111) East Timor Crisis (iv) Rwandan Crisis
Codes :

(1) (i), (i), (iv), (1) (2) (), (v), (1), (i)
(3) (@, (i), (i), (iv) 4) (v, (1), (1), (i1)

33. Which country enjoys the distinction of sending the first all female UN peacekeeping unit
for its deployment in the international peacekeeping force ?
(1) China (2) India
(3) Mexico (4) Ghana

34. List the following countries in descending order of their Human Development Ranking of
2014, by using the correct code given below :

(a) SriLanka (b) India

(c) Maldives (d) Bhutan

Codes :

(1) (@), (c), (b), (d) (2) (b), (d), (c), (a)
(3)  (¢), (), (d), (b) 4) (d), (b)), (c), (a)

35. The concept of the “overdeveloped state” in regard to the role of the military in the
politics of Pakistan was given by whom :
(1)  Samir Amin (2) Hamza Alavi
(3) Ishtiag Ahmed (4) Hasan Askazi Rizvi

36. Match the following books given in List — I with the respective authors mentioned in
List — II and use the codes given below to mention correct answer :
List -1 List - II
(a) The Quest for identity, International (i) D.R. Sar Desai
Relations of Southeast Asia

(b) India & Southeast Asia (i) Amitav Acharya

(¢) India and ASEAN (ii1)) Sudir Devare

(d) Southeast Asia : Past and Present (iv) Frederic Grare & Amitabh Mattoo (eds)
Codes :

@ () () ()
(H @ @ aG) (@Gv)
(2 Gy (@) @Gv) @)
3 Gv) @ (a) (i)
4 () () (>Gv) (i)
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32. TAfAREd SeATet i STRIET HIeTsh H AN hifoTT, STel Ger T T deid STavash o :
() I HEgs (i) ®% fKaua =
(iii) AT [q9R dehe (iv) YdTer & Whe
E T
(1) (ib), (i), (iv), () (2) (i), (iv), (i), (iii)
(3) (D), (iii), (ii), (iv) @ (@v), (), (i), (ii)
33. fafafad B @ fFg 391 H SRIEE I W@ 96 | a1l &q 9o (3ifaet Afee) S T
T T&Teh Ueheh AT T RS WT & 2
() == (2) WRd
(3) At (4) =T
34, 9 I T e H TR § HEAET S h 36 A TR & a9 2014 F I & AR
H H AT DIt
(a) it (b) 9RA
(c) W (d) Y2
T
(1) (@), (c), (b), (d) (2) (b, (d), (©), (@)
(3) (), (a), (d), (b) @ (), (), (©), (@
35. Ffcifad 7 ¥ 6o Oiichea™ ot IS § G416l iR o T | “sAfafaetaa a9 @t
STTHRON & & 2
(1) TER 3= (2) THT e
(3) IR 3EET (4) &G W el
36. = U T P H WEEAr ¥ G — 1 H 5T T AT R g — 11§ T T 3% i@ ok qry
guferd Sifs
Tl -1 e - 11
(a) T O B AESEE ; TTWEA (1) L3R, TEEE
Rererg 31 W= & uivmn
(b) Efea UUE ASY e UM (i) At
(c) Efean woe s (iii) gAY T
(d) =Y < TRET : IR TS S (iv) TheRes TR qar 3T&I?|T‘1-Tt|§(eds)
kT
(@ (b (© (@
() Gi) @@ () (v)
() @G i) Gv) @)
(3) Gv) (@) G (i)
@ () i) (>Gv) GGi)
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37. Match the following dates arranged in List — I with the conferences mentioned in List — II
and use the code given below to findout correct answer :

List -1 List — II
(Years) (Meetings/Conferences)
(a) 1945 (1)  Jakarta Informal Meeting 11
(b) 1954 (i1) Paris peace Conference
(c) 1973 (ii1)) Potsdam Meeting
(d) 1991 (iv) Geneva Conference on Indochina.
Codes :
@ @®d () (@
(L @ @G @Gv) (@G
(2 Gv) @) @ ()
3 G @@ (>Av) (i)
(4) () @v) @G (@)

38. Identify the correct code for Assertion (A) and Reason (R) as given below :

Assertion (A) : Russia has recently evinced a new found willingness to use force to get
what it wants.

Reason (R) : Russian top priority for military development remained primarily in its
nuclear deterrent which it considered the ultimate guarantor of Russian security and
sovereignty.

Codes :

(1) Both (A) and (R) are correct.

(2) Both (A) and (R) are not correct.
(3) (A) is correct, but (R) is not correct.
(4) (A) is not correct, but (R) is correct.

39. Which was the main reason for Albania to withdraw from the Warsaw Pact in the late

sixties ?
(1) Cuban missile crisis (2) Internal crisis in Georgia
(3) Invasion of Czechoslovakia (4) Invasion of Hungary

40. In 2011, Russia entered into an agreement on civil nuclear cooperation with which one of
the following countries ?

(1) France (2)  United Kingdom
(3) United States (4) India
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37. A - 19 GE - 1§ 3 T gl ¥ GAEd SIS a9 e [T T % B geradr ¥ e

3T hT T it :

() (5% / AHIA)
(a) 1945 (i) STTehTaT SN 98 11

(b) 1954 (i) ORs wIifd THe=
(c) 1973 (i) RS <H dSF

(d) 1991 (iv) e § SHaT e

(@ (b () (@
H @ G 3Gv) (>G)
2 Gv) @ @ (i)
3 G @ av) (i)
@ @G @Gv) G @

38. o 5T T SMIHE (A) TUT T (R) T o7 TEl e Bl Ggd HioT :

ATFHAT (A) : ©F S TR ¢, 39 UA F [0 I BT & H 967 % WA B AG-UE FedLelr
TUEE |

& (R) : U foeE § & & 3T WAMHHA J&T T 9 39 A TR (Jlaeral
feat) o o W o, [STeht 3T &9 S G SR GORIAT 1 TRE TR JH=T T |

B

(1) (A) 3R (R) I T ¥ |
(2) (A) 3R (R) T T T E |
(3) (A) TEE W(R) Tl TIE |

@) (A) W TEE, WR) W |

39, 3TCSIAT RT 1960 o 33 & SifqH THT H IRET Uge 9 g2+ 1 & HROT o7
(1) gaTE YR Tehe (2) it § 3HidNe Gehe
(3) TRRAETRAT T STEHHOT (4) T W ARHHT

40. ®FF2011 ° FH=fciiad & 9 f5e 291 o |19 3T AT FeanT THSIdT {6 o1 2

(1) w| (2) TS feren
(3) 3N (4) 9Ra
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41. Camp David Accord (of 1978) brought peace between which of the following two
countries ?

(1) Iran and Israel
(2) Israel and Egypt
(3) Saudi Arabia and Iran

(4) Palestine and Israel

42. Which one of the following colonial powers practised “Indirect rule” in its African

colonies ?
(I) France (2) Belgium
(3) England (4) Germany

43. Which one of the following groups, in Tunisia collectively won the Nobel Peace Prize for
helping to restore democracy in Tunisia ?

(1) Tunisia Human Rights Quarter.
(2) Tunisia Democratic Union.
(3) Tunisian National Dialogue Quarter.

(4) Tunisian Labour Union.

44. 'Who among the following, said the following ?
“North knows the South

South knows the North
North does not itself” :
(I) Kwame Nkrumah (2) Jomo Kenyatta
(3) Jawaharlal Nehru (4)  Julius Nyerere

45. Which one of the following countries is the only African countries to become member of

the BRICS ?
(I)  South Africa (2) Nigeria
(3) Ghana (4) Zimbabwe

46. Who among the following proclaimed himself caliph and head of ISIS ?
(1) Al Zarqawi (2) Ayman al Zawahiri
(3) Muri al Maliki (4) Abu Bakar Baghdadi
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41. =9 1978 % % fae GHEid & §RT et o § fobT <o o ster o1t wniad &g off 2
(1) = 3R oR/EA
(2) TREA R e
(3) 3Tl 3RF 3R WM
(4) TR 3R ToRTEe
42. TFeAtetEd 9 9 o fiui-arerss vIfe = ST SThisht SUTaen | “axie] Ima fohar a1 2
() W (2) S
(3) i (4) T
43. A § FHEfared B 9 69 99 A MR H Al J8Te S § 958 i o (ol e
T F gl EHR ST € 2
(1) FFaET e Teeq T
(2) T SHHe i
(3) FHEER Foe ST Fed
(4) R o g
44, = H T Hum FoE &
“ZTR STRIOT Bl ST &
RRTOT I N ST &
IR T I FEl SAATE 2
(1) = FohEHT (2) St S
(3) SR Te% 4) s =AW
45, TRAfAREd H | B 9 THAR ST 1 & S {211 1 T & 2
(1) sfeqor smhise (2) e
(3) = 4) FamE
46. TTATAEd 9 | o W@ Sl TATw T2 3778 TH 37T UF T T =it 6 & 2
(1) 37 S (2) UAM 3T Fetedt
(3) T e wieTeRl (4) 371 THT TEET
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47. Match the present names as given in List — I with their previous names in List — II of the
African countries and use the codes given below :

List - 1 List - 11
(Present names) (Previous names)
(a) Benin (1)  Northern Rhodesia
(b) Malawi (i)  French Soudan
(c) Zambia (i11)) Dahomey
(d) Mali (iv) Nyasaland
Codes :

(@ b (© (@
(1 G Gv) @ ()
(2 Gv) G (3G ()
3 Gy G Gv) (@)
@ @ >Gv) Gy (i)

48. Presidents Truman’s proposal for an interventionist foreign policy in the mid forties came
in the light of which one of the following developments ?
(1)  Soviet troops in Iran (2) Civil War in Greece
(3) Polish Election (4) Berlin blockade

49. During 2016 the US Administration is concentrating its financial assistance in which
group of the following Latin American countries ?
(1) Argentina, Colombia, Peru
(2) Ecuador, Nicaragua, Brazil
(3) Chile, Mexico, Costa Rica
(4) El Salvador, Guatemala, Honduras

50. Arrange the following regional institutions in the ascending chronological order with the
help of the given code :
(a) Central American Integration System
(b) Caribbean community
(c) Rio group
(d) Latin American Integration Association
Code :
(1) (@), (d), (b), (c)
(2)  (b), (d), (¢), (a)
(3)  (d), (a), (b), ()
@) (0, (b), (a), (d)
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47. 9 U U $Z B GerIdr W G — 1 § {7 T 3Tkt <9 o g9 A B gt — 11 H 53 ™
3 gF ATt % 91 GRfeTd i
T -1 e - 11

(TAHT ) (qa )
(a) S () I e
(b) TSl (i) 9 GSeH
(c) SUfE=ET (i) S
(d) e (iv) IS
kT

@ b (© (@
(1) (i) @Gv) @ (i)
(2 (@v) @) i) @)
(3) () (i) Gv) @)
@ (@) (Gv) () (i)

48. A % TR H HE § AU ZHT FRT XA i o1 At T T o2 ST fterraa o |
TR EI2TohH ST SHROT &7 ?

(1) = ¥ Fifgad A (2) FTHAHTEIE
(3)  Hiete T A (4) e e

49. TU 2016 & INH T T5T WA Ffelad § § ffT A sTieh! <91 o 998 | o
TR U 3T A Hid T T & 2

(1) 3T, HIAT=ET, T

(2) TFEER, FRETST, Srstier

(3) i, AiRIeh!, HIRIRIH

(4) 3T HedrsR, T3TAHTT, BHg™

50. Trfefad et Temstt ol A 73 T e &l Ferd | TR HITHAER Saed Hif :
(a) g T ThIhoT Here
(b)  hReATE FHRTA
(c) o
(d) e it TehishoT 99
£
(1) (a),(d), (b), (c)
(2) (b, (d), (0), (a)
(3)  (d), (a), (b), (c)
@) (c), (b), (a), (d)

J-90-16 23 Paper-11

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

Space For Rough Work

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com



